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39630 EHE A~ F 5 1,102 65 65 65 BN 1TH
31700 | ¥ ¢ 20 1,404 756 756 648 | 57 24—
31900 ¥ 7 7,571 1,296 1,296 918 W Tkg
34330 E7p9 71 12,577 54 32 17 BH 3554
34100 #AJK 19 2, 759 38 38 IRE=17 937 ]
34200 I 83 13, 435 173 173 140 | BN 83kg
34500 B—< 68 4, 568 27 16 16 BN 2284%
36200 fEeHEE 75 16, 038 238 238 140 BN 75kg
36600 7-¥nE 60 12,258 | 216 216 189 | BN 60kg
34700 L5 HAZL 30 7, 355 86 70 70 | BN 99A
34930 LA 41 6, 782 59 59 32| &M 1384
34980 ~bE 8 2,106 97 86 65 | BN 25K
34800 #< 6 22 14, 645 81 65 59 | B 219 v b
49470 Ny ar T A—Y 49 41, 969 130 70 65| B 7 4921
71010 K% 4, 844 22 22 16 | &M 2494
71011 A7 L—%4 21, 276 38 11 5| &M 1, 2704
71040 2% N ; 605 43 43 43 | BN 144 ]
71150  LiE ‘ 1,264 86 86 54| B 187
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30100 72V Z A L ‘ 30 6, 048 216 194 194 | F7 304
30300 A% L i 25 8, 100 1, 620 1,620 1,620 | FH#& B A
30400 ZIEH % 8 2, 462 65 65 65 |FEIRLE 384%
31100 A% 2L | 75 8,100 1,620 1,620 1,620 £ 5r—= |
33500 BT A3 2 1,026 54 54 54 1l 194§
33810 HAEHE 24 130 1 1 1| E% 1201@&
Y5005 AKFEAN 5 1,534 1,534 1,534 1,534 | K5y 17 —23
31700 F v XY 440 28,836 | 864 594 594 | REA 444 —= |
31730 ZU—rAR— 40 2, 592 648 648 648 | IR B ar—= |
31800 1E I A 8 4,752 119 119 119 [R5 4048
31900 X 5 10, 260 1,026 1,026 1,026 |FEIE B 103K (500g)
32800 125 5 2,592 65 43 43 | I 503K
34300 729 30 5,076 1,188 864 648 | fiE 64 — A
34460 I =L F L S 5 3,110 130 130 130 | R 5 243> 7
34100 #A/I 20 6, 480 1,728 1,728 1,512 #E 44— 2
34100 #/I 8 1,728 43| 43 43 ERE 4048
34100 #HJL 2L 5 1, 404 1, 404 1, 404 1,404 | fER B 7=
34100 #HIK L 15 3, 240 1, 080 1, 080 1,080 fig 34—z
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33300 7oyl — 7 2,851 130 130 130 EIRE 221
38100 A LWW=iF 7 4,752 76 65 65 = Ik 70,8y 7
34764 S—L KT v a 0 4 421 32 32 32 | E5f 134
31310 ZP3E 5 3,510 140 140 140 | & 2548
31500 /MASE 12 5, 184 108 76 76 | @[ 604
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Y4008 /N7 AT A 7 5, 702 238 238 238 B8 2478y
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48000 U A 34 5, 400 1, 080 864 756 | FEVE B 61E
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